
1 https://jpw-catalog-qa-b2c-2.corevist.cloud/wb-37-upper-cabinet-assembly
8/25/25

WB-37 Upper Cabinet Assembly
Product Images

https://jpw-catalog-qa-b2c-2.corevist.cloud/wb-37-upper-cabinet-assembly


2 https://jpw-catalog-qa-b2c-2.corevist.cloud/wb-37-upper-cabinet-assembly
8/25/25

Description

Index
Number Part Number Description Size Qty

1 WB37-301 Upper Cabinet  1

2 TS-1534032 Pan Head Screw M6x10 8

3 WB25-303 Upper Left Door  1

4 WB25-304 Upper Right Door  1

5 6294509 Door Lock  2

6 TS-0208041 Socket Head Cap Screw 5/16-18x3/4 4

7 TS-0720081 Lock Washer 5/16 5

8 WB25-308 Lower Door  2

9 TS-0561021 Hex Nut 5/16-18 1

10 TS-081F031 Flat Head Screw 1/4-20x1/2 8

11 WB37-311 Emergency Plate  1

12 WB25-312 Door Hinge Pin  4

13 TS-2361061 Lock Washer M6 6

14 TS-1482021 Hex Cap Screw M6x12 4

15 TS-0680031 Flat Washer 5/16 5

16 6294280 Limit Switch  1

17 WB25-317 Limit Switch Holder  1

18 TS-1533032 Pan Head Screw M5x10 1

19 TS-0680021 Flat Washer 1/4 2

20 WB25-320 Fixed Bracket  1

21 WB25-321 Thicknesser Post  1

22 TS-0207031 Socket Head Cap Screw 1/4-20x5/8 2

23 WB25-323 Cover  1

Additional Information

Stock Number 1790837-2

https://jpw-catalog-qa-b2c-2.corevist.cloud/wb-37-upper-cabinet-assembly


3 https://jpw-catalog-qa-b2c-2.corevist.cloud/wb-37-upper-cabinet-assembly
8/25/25

Products in this set

https://jpw-catalog-qa-b2c-2.corevist.cloud/wb-37-upper-cabinet-assembly

